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Note :

PSYCHOLOGY
PAPER - 11

This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.
§
Motion sickness can occur when : .'I";
(a) one loses his vestibular sense. f r
(b) one relies only on visual information.

(c) one’s visual information and vestibular system’s information are congruent.
§
(d) one’s visual system and vestibular system are in conflict. * (

Codes : f./'ﬂ’ £ |

(1)  (a) only (2) I'J(a) and (b)
® (@ only @ | @and §
2. Read each of the following two statements - Assertl)orrl EA) and Reason (R) and indicate
your answer using the codes given llélow
Assertion (A) : Iconic store i§ a dldécrete visual sensory store.
Reason (R) : Because information is believed to be stored in the form of visual codes.
Codes : "
(1) Both (A) and (l{) areftrue and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
_ 3) (A)is true,ﬂbut (R) is false.
( (4) (A)is false, ﬁjutt'(R) is true.
3.  Backward Condftioning occurs when :
(1) CS and US are presented simultaneously
2) ¥ ¢ CS is presented first and US is presented before the termination of CS
(3) CS is presented first and US is presented after the termination of CS
(4) USis presented first and CS is presented after the termination of US
oaess | {1HNILAN :
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TIT-UA - 11

fader: =@ Y- | UemE (50) SE-fashedia U € | We U % °F (2) i § 1 |t uee sifar €

1.

g el A =9 feafq § S T

(a) T foRE Y yETO WA T B S T y
(b) 9 HIE Al Tt gvF garel R R & 2 "(f'
(c) T Tt off gvar gusil IR wemor o5 it Yo § drerHd BT S I

() T et % gva a1 SR 9O o § TER Sgg e gl
RE : _

(1) 99 (a) (2)  (a)®X(b)s

(3) Faa (d) (4) (ﬂ (d)

frfafed 9wl - RIHTT (A) 3R T (R) Hﬁuﬁﬁﬁﬂ@@'wwﬂnmﬁg
37T I ST J

sfma (A): YRR ver, fafey g W wuER 8|

& (R) : mﬁ%@wwﬁﬁwg&@%mﬁwﬁ@?ﬁ%l

e : ¥

(A)aﬁI(R)aﬁaé%a}%(R),(A)ﬁaéwm%

(4) 3R (R) S 581 %, A7 (R), (A) F1 ¥ =@ T 8

(A) TE &, AferT (R) Tferd 7

(A)naq%diﬁﬁm(R)ﬂé%l

. [ < Ty s o R

(1) AP IEJuh AR STATHId Sardeh TL-HY THKA B1d ¢ |
(2) _ STIRfAd IEUH T8 HIS[E BT § IR SThcd g STIHfad Iardeh & qREHIH & Id
T e e |
(3),  TTHRfAT SETE e WeE A ¥ o S S SrEied A % uEHs
¥ qYET TEd B 2
(4) SIERT JEE Ted WEGA T § SR STET SEE % TREHI ¥ WA SHied
EARCREIS G
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4.  Which among the following defines problem space ?
(a) An initial state
(b) A goal state
(c) A set of operations
Codes :
1) @and(© (2 @and®d) (@) (Band© @ (a), @nd ©

L

5.  The James-Lange theory and the cognitive theory of emotion disagree on whether :

(1) specific brain centers are involved in specific emotions. 4
(2) bodily feedback determines which emotion is felt. -*. r f
(3) individuals can judge their emotions accllj?tely. : - {

(4) there is no any biological involvement in'human en,totions.

/ \
.'r.

6.  Match List-I with List-II and select the correct ans‘v by choosmg from the codes given

below : :
List-I 4 (List-TI ' Al f
(a) Binet (i) = Irﬁcrelhgent people often have intelligent relatives
(b) Broca : ( k) A Performance based intelligence tests eliminate cultural bias
(c) Wechsler (iii) Correlation between intelligence and brain size
(d) Galton !i' # (iv) Intelligence is a collection of mental abilities
Codes : I !

@ B,

@) @© (1) ) (1v)
(2 @) (i) i) 3
() @) Gv) @O (@)
4y (v) (D) PG @)
\
L]
7. Biol:)lgically based emotional and behavioural tendencies that are evident in early childhood
represént :
Trait (2) Type (3) Temperament (4) Style
pass HIH\I\HI LT ‘
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4. Freifafed § 9 @9 guen 49 51 R 539 $2
(a) T WIfHe STaeen
(b) T & el
(c) Il 1 T WY
RE i
(1) (a) () (2) (a) 3R (b) (3) (b) () (@) (a), (o) 3 ()

5. WA 3 S-of 3 dees i e A @ e e T8 § ) !
(1) fafere afcss g faftre 9o 9 9o 3 €| _
2) wfe ffafie (wes®) T wdt & fF 50 gam &1 e @ %ﬁ"
(3) =l oTa Hemil % Heiw H wEl & @ Fofa afeRd B
) Wwﬁmﬁmmaﬁaﬂé. | |
)

6. WIWWIIﬁ@WWﬁﬁMWﬁ%WWW
Heit-1 o
(@) fae ﬂ%’ﬁsmﬂmlu%wdqum Ffga™ B §
) s _ghiﬁwwmﬁawqﬁwmwaﬁwm%
) IR ) dfg 3R AfEsh & ATHR & o Te-Had

e !{ ‘{ (v) Sfg-Amfas awdei w1 e €

4

@ ®4© @
0 ) 4 ()
2) () (i) Ev) ")
3) (iii) (iv) (1) (if)
R O C R C BG)
|

7. aﬁﬁqﬁaﬁmﬁﬁaﬁaﬁwmﬁﬂwqﬂwwaﬂioqqawaﬁa?uq%ﬁﬁﬂ%fﬁaﬁaﬂgﬁiﬁf%
FIA B
(1) - (2) FER (3) E/wHM (4) ded
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8.  In Jungian theory, the idea that energy is automatically redistributed in the psyche in order
to achieve equilibrium or balance depicts :
(1) Principle of Equivalence (2)  Principle of Synchronicity
(3)  Principle of Entrophy (4) Principle of Opposites
9.  After the recent terrorist attacks in France, a psychologist proposed a study wherein he
would interview two hundred French citizens to find whether their attitude towards fate as
a consequence of the attack. This study can best be labelled as : {
(1) attitude change experiment (2) field experiment ..r‘;
(3) ex post facto study (4) psychometric study { F
10. Match List-I with List-II and select the correct answer by choosing from the codes given
below : "
List-I Lisf—fL !
(Cutaneous receptors) ,(f'\‘:sponds to)
(a) Free nerve endings (1) I"ISudden displacement of skin
(b) Ruffini endings (i) | Gradual skin indentation
(c) Merkel’s disks (iii) Graduavgzin stretch
(d) Pacinian corpuscles N (iv) Temperf\tﬁré cf;ange and pain
Codes : h |
< f
@ () () @ AR
(1) @ G (i) (V) -
@ () @) @) @
(6) @) @) @) )
@) Gv) G, @ @
11, Read each of the following two statements - Assertion (A) and Reason (R) and indicate
/ your answer using the codes given below :
" Assertion (A) : ﬁ trlée shall appear in same perceived size whether one views it from near
or far point.
Reason (R) : | The size of retinal image remains invariant.
Codes : |
(1)‘\ Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) " Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true.
oass [N :
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8. Sifirm fagia # ug fa=m f el &1 qA: famu Amw # o197 319 &1 S € difeh |qe o T,
frfafed fagia & gofar ©
(1) ToIal # fagia (2) FHHIcTRT H Fagid
(3) dRaw w1 fagid (4) foodiaan =1 fagid
9. TAH Wid H AhaE! SHAV o F1% Toh HAEH 3 TH AT L &1 g v 5794 o
T G WIHTE ARTRGRT T TR T I8 Ta1 ST foh 3R S 36 SATHRA 1 HRUT 97 Rl 7 ¢ |
TH AT HI S G /
(1) srfvgfa afiad J=m (2) &3 T I "rf‘
(3) ERARR e (4) T e
10. W1 F GE-I ¥ Wer GAfea FAA qon Freaferad Fe F1 AT FW@ g0 WG IR H
ST : il \
-1 /'Jujﬁ Il |
(=it HuTEe ) (@f 3T1ﬁl?€lT)
(a) T T SHfeH PR (i) Wf:?r g;ﬂ
(b) EEAT HAfdd BR (i) EREau
(c) Tehdl dfgaht Y (iii) IM: Qﬁ}raﬂrw
d) TafrEa e ( Niv) TR qRed iR dre
“M
%he b (
@ () () (d -
M @ @) () ()
(2) () @) @) @) )
3) @) @Gv) @ 3
(4)  (v) (i) | (D) ()
11. ﬁmﬁrﬁ@ﬁa‘rmﬁ?’a‘r Afurmert (a) o 7k (R) 1 W o A1 fee e 3 1 i 7 g
a:rﬁmm(A) mg@é@ﬁmﬁéﬁgaﬁwwmﬁm@m
qeh (R): STF&lqde 3Tpfa 1 MR Tufad=a & 2|
%e: !
1), (A) 3R (R) I T § 3R (R), (A) FT Tl == 2
) ¥ (A) 3R (R) A TEF € W (R), (A) T TE =08 T R
3) (A)®E ¥, A (R) Tord B
4) (A)7Td B, dfed (R) T&T 2|
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12.

13.

14.

D-0415 HMH"“M"

Which of the following is correct while comparing classical and operant conditioning ?

(1) Operant conditioning takes place before reinforcement while classical conditioning takes
place after reinforcement.

(2) Operant conditioning takes place as a result of some voluntary action while classical
conditioning takes place without choice.

P 1
(3) Inoperant conditioning, response is elicited while in classical conditioning it is emitted.
4

(4) In operant conditioning magnitude of the response is the index of l_c0nditioni_‘ng,.while
in classical conditioning it is the rate of response.

Words learned under water are recalled :

(1) Better on land than under water I,n"r . I.'
/ f
(2) Better above land (sky) than on land \ (i
(3) Better above land (sky) than under water ¢ —=
%
!

(4) Better under water than o,%'laﬁd
1 |

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using theé codes given below :

Assertion (A) : | People overlook flaws if the overall issue is perceived as important.

‘4

+Reason (R) : ,?‘eople have some biases.

Codes :
(1) = Both (A) a.rld (R) are true and (R) is the correct explanation of (A).

(2)I'a Both (A) and (R) are true, but (R) is not the correct explanation of (A).

J

(3) " (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(o]
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12. 977 (FATGFA) IR FFATIEd (STHR=) STIFad ®i qal & 99 frefafea § 4 sR @ adr g ?

(1) TRATIEE eTRaT IHaad 9 98l BT ¢ STafh Jreie (FRAfeehal) STfqer qiaed % a8 gl
Bl

2) fwraga IRt $9 s Rl & woa®d B © Sech YTH Tjegad foq1 fhel fasmeq
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(3) foramugd sTHEe | TR U I Sl § Safeh W T{ged # Scafia 3L B /

(4) TRITIEE o e § TR I TAd STIHAT F YAk § SEh FeA ATEAT H I8
TR W < BT ¥

13. W%memmﬁﬁyzwmwﬁ:. ’
4 |

(1) Ol % SIS ol gol § SHH WogaR

SHH W ®! g H THA IR (W) EEGN \‘j

@
3

)

) O R 3TQX I g H SHA | d{l{ (T dgqL == /
b

(4)

{
Wwaﬁwﬁqﬁ%&{a&% '
ip

14. frafafed < wedl - USRS (A) 3R Teh (R) 1 ufer iR = fou 7T F2i #1 3T #3d g oe
IR TN : { J{

ARRLT (A) : | A T A T Heceqol FHE ST @1 AR SHH! HA1 BT S A T a1 e |

|

/T R): J

el § Fw arErfes (AfEfd) Bd €

|
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ﬁfwwwm®wm
4) (A) T B, AfE (R) W1 R
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15.

16.

17.

Simi is totally blind, but she follows a 24-hr day-night cycle like the rest of us, and seems
comfortably adapted to it. Studies on animals suggest she relies on :

(@) a built-in rhythm in her Supra-Chiasmatic Nucleus (SCN).
(b) non-visual receptors in her eyes.

(c) social activity

(d) clocks p
{
Codes : f e
(1) (b) only (2)  (d)only (3)  (c) and (d) 4) @ (o) and (d)
AN Y
Flynn effect is : l,,/ &

F§ [
(1) High IQ score of a generation in comparison to suclll'ceeding generation.

|
[}

(2) High IQ score of a generation in comparison t‘ ?.eceding generation.
(3) A person’s increase in accumulated knowledge with. inrease in age.
L

%

(4) A person’s change in accuqamlfted knowledge with increase in age.
Vi <

Which of the following sequence is correct ?

(1) Oral phase — Anal ﬁhase — Latency — Phallic — Genital

(2)  Anal > Oral — Phallic - Latency — Genital
"

(3) Oral » Anal = Phallic > Latency — Genital

(4) Oral — Phallic _> Anal - Genital - Latency

18. V\/;§|ich one of the following is considered as a non-parametric alternative to one-way ANOVA
foriindependent samples ?
(1) Kruskal - Wallis H test (2) Mann - Whitney U test
Kolmogorov - Smirnov test (4) Friedman's ANOVA
i HI\I\IHIIHHIIIIH AR 1
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4) @ ¥ 9fg * Q- mua@?é%‘vhﬁsrﬁﬁqﬁa?h
17. ﬁmﬁ@aﬁﬁaﬁq-ﬁ.wyﬁ%?
1) e > grﬁzr wlm — TR =101 - TAfiTeh =)o — S =)o
(2) T > g > W - e o S
LGy TR s ST s S
(4) T > T T > T fored
I
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19.

20.

21.

paus ||

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Action potentials normally travel along axons in one direction.

Reason (R) : The portions of an axon over which an action potential has just travelled
are left momentarily refractory.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A). { -

(3) (A) is true, but (R) is false. -'r‘; )

(4) (A) is false, but (R) is true. { r

Match List-I with List-II and select the correct answer by choosing from the codes given

below : .
{

List-I List-II 0 (

(Cues) (Percepﬁ’on)
(a) Linear perspective (i) Owur y{:vo eyes obsllerve objects from slightly different

positions. J
(b)  Aerial perspective (ii) Parallel line§ appears to converge at distance.
(c) Atmospheric perspective  (iii) Objects belowghe hogizon appear near.
(d) Retinal disparity (iv,i. Farther away{oﬁje‘ctsfare less distinctly seen.
Codes : b
< f

@@ () (o (d) Vg ¢
L O @ 3§ )
(2) @) () @) @
(3) @@ @v) @ (),
@ v @) @ Lo

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : F. desirable behaviour of an individual can be effectively used as a reference
for another less desirable activity.

Reason (R) :  'Premack has suggested that all responses should be thought of as potential
: reinforcers.

Codes :

(1)I" Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) y Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (;&) is true, but (R) is false.

(4) (A) is false, but (R) is true.

TR 2

www.examrace.com
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IR

< :

(1) (A) 3R (R) A ¥ § &R (R), (A) FT TEI =00 T | §

2) (A) IR (R) A T T, WG (R), (A) FT F& =AM T T (s

(3) (A) T T, AfFT (R) TTerd 2| i

(4) (A) T &, AfRAT (R) TR

ajﬁlaﬁiﬁﬁnézwaﬂﬁﬁﬁﬁﬁqamﬁmﬁf@ﬁ@wwmgqvé}wmwaﬁm

20. o i
(Fg/EkT ) (veagr)
(a) o= afge (i) maﬁa@@@fﬂﬂﬁaﬁr@aﬁaﬂﬁé@ﬁ%l
(b) TEETE uRPe (i) wmv—ﬂ‘r@*{ TR AR Bt FedTd B € |
(c) dwgHedrd aRusd (iii) farfast | = qﬁgg’wmeh Tt Bt § |
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i @ (b) () (d) ? “‘i
1 @ G 3§D (i)
2 @@ @) @v) @
(3) (@) () @« @)
4) (@v) (i) @) § @
21. ﬁmﬁrﬁaﬁa%w AR (A) 3R @ (R) 1 aigu iR 9 for 7 2 #1 79 @ g
e
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(3) (&) W& %, AfFT (R) 7o B
(A) TTETd &, Afer (R) W& R |
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22.

23.

24.

25.

st ||

Which memory is the result of instrumental/motor learning processes ?
(1) Semantic memory (2) Episodic memory

(3) Sensory memory (4) Procedural memory

9
If you begin with a problem and come up with many different solutions; you arc using

, which is a form of creative thinking; contrarily sometimes you come Pp with
correct solut1on by using thinking.

Ip' [
(1) convergent, inductive (2) convergent, deductive
(3) convergent, divergent (4) divergent, convefgent
g\
/ |
Choose the correct formula to measure Body Mass ?dex‘ (BMI).
(1) Weight in kg squared/height in meters {é
(2) Weight in kg squared/Height i meters squrarefl
(3) Weight in kg/height in ?;Felt
(4) Weight in kg/height in meters squared
{ -
|
Which of the following are not identified by Thurstone ?
|
~(a) Induction ,
(b) Spatial
(c) # Symbolic .|
(d) Semantic
v
Codesg
1) @and®) @ ©@and@ @) @and© (@) (@) (b)and ()
[T T
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22, HH-9 wfa Yt/ ias eifm giwman s afomm €2
(1) vresred (2) wTe= Hfd
() e wf (4) iFeT B
23. f oY T TEEN % R F AR 3 ¥ 7 fafe R % wen w A A we E @
TR 1 GICHE Taad FLd &1 9% foradia wrer et S aﬂ@ﬂﬁwrﬁ'—l@ﬁ
g TR % a7 1 STET F § {
(1) R, srwfeE qd (2) erfumR, Sfetafis g
(3)  SATHERT, FATEI (4) ST, afireor | 'Jﬁ-
/_/ .
24. i<t HH ES9 (BMI) ﬁmﬁ%%@ﬂﬁm@éw
(1) forcmm & aR &1 o /Hie # dar ;Wi./
2) forarm & 9R =1 a7 /Hex § ddE &1 i
(@) fraum o ar/Hex ¥ avté:" 1.;:
(4) Tl & R/ e § oo o e
{~
25. a@qmﬁwﬁrﬁaﬁﬁﬁ%wﬁmw?
o B | .*,»
'r (b) wf® f
(€) o TdTHTHR .I
(d) e foreEre
7o
(1) (a) ¥R (b) () () R (d) () (a) ¥R () (4) (@), (b) ¥ ()
wass [N .
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26. Match the items of List-I with the items of List-II. Select the correct answer from the answer

codes given below :

List-1

(Concept)
(a) Rational Functions
(b) Impetus

() Masculine Protest

(d) Hyper competitiveness
Codes :

@ () () (d
O @ G ([ ()
@ G @ @) (@)
@) () () Gv) ()
(4) (v) (@) @) ()

%

(i)
(i)
(iv)

List-II
(Theorist)
Freud
Jung

&
Adler d »

Ty

Horney

27. Match List-I with List-II and in.d\icaj':e your answer using the codes given below :
; )

List-I Ly
(Types of variable)
Continuous val‘iiable'

Real discrlete variable

(

(

(c) - Artificially discrete variable
(d) Qualitative"frar-ilable

Codes

@ ®) [© (@
aj G @ o @
@\ i) O (v G
@) @ G @ i
4) (@ i) (iv) (i)

) (
pous [[ [

List-II

(Examples)

Examination results in terms of pass and fail
Voice pitch

Intelligence

Nationality

Paper-11
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26. GEI-1 HI Ge-11 o 91 Gafad HIfe qen fFefafad §2 w1 Ja0 wd gC Wel S I =

HIFST :
-1

( TFYTIUT )

@@ (b)) (o (d)

TEi-11

(Tagdt)
i e
(i) T
(iii) TEER {
(iv) =t r

pe (
;f’ §

® @ @ 3§D (i)
@ @ @ @) @)
G) (@) @@ @) @O
4) (v) () @ @)
27. I

HIfTT :

TEt-I

(=)
@ fm= L
(b) TRfdS THAT =
© Fm s
C () T %F{f
e :

@ (b) [(c) (d)
) ) @0 )
(2) ¥ (D) @) (Gv) (i)
) @) Gv) @) ()
) @) @) (Gv) (i)

s ||

T,

-1 &1 gei-11 o |1 gafad qo"lfvlk}?rﬂ'r Frefafad % %1 TANT A0 U TRl IW K =TI
: =,
4

TEi-11
(3T
(i) IO AR ST ok €9 H Tl IROTH
(i) T e
(i) 9fs
(iv) T
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28.

29.

30.

31.

In which lobe of the cerebral cortex, the primary olfactory cortex lies ?
(1) Frontal lobe (2) Temporal lobe

(3)  Occipital lobe (4) Parietal lobe

“Factor Analysis is used as a means of confirming a structured model than asfa means of

discovering a structural model”. This is true of which theory of intelligence ? /
(1) Spearman (2) Thurstone [ f
(3) Jensen (4)  Guilford : Y

s N |i
r

Read each of the following two statements —J,-/{;sertion (A) and Reason (R) and indicate
your answer using the codes given below : , !

| ¥
¥

Assertion (A) : One focuses on the discovery of trut‘m and interests that are empirical, critical
and rational. ‘I'P

#
g
4
F

-

Reason (R) : A person high on e€opomic values fbcuses on usefulness and practicality.
{
Codes : 1‘" _
Y

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (l}) are-true, but (R) is not the correct explanation of (A).
1

(3)  (A) is true, but (R) is false.

4)  (A)is feils.%, but (R) is true.

.ni'f )
A supervisor, who was asked to rate his subordinates on the basis of his observations, found
an émployee who did not take a medical leave in that year. On the basis of this observation,
the supervisor rated the employee as “medically fit’, “highly efficient’ and ‘meticulous’. This
is an example of :
"

(1) = lineancy error (2) constant error

tendency to give extreme rating (4) halo effect

Dot HI\I\IHIIIIHMI|||H||||H|H|\|H||\|HH|||\|\||!II\ s
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28. YHIESh dope & fohd fies o wufas wor goge fHfed 2ar &2
(1) A I (2) @ UIfa
(3) AIHUTA Ul (4) fa<itg aifa

29. ‘& foaeedTon 1 YN fohdl HTEATHS JaET i QIS & U i Gl H HIEAIH  qi08 i

gfte & 39 % &9 # fohen s €17 fRw gfg fogia & fau s v §72 /
(1) T (2) o=A [ f
(3) ST (4) Frerere

30. frefafed < wei - e (A)aﬁwz%(m@%vaﬁfﬁmmﬁwsqﬁﬂmﬁ@w
I ST ..l

AR AT (A) ﬁﬁ%@wﬁﬁ%ﬁﬁﬂ?wwéﬂ%ﬁww

3R THETT B T |
& (R) : ﬁwwwwwmaﬁ?ﬁwﬁwmwéﬂ%
% : ¢
Vi

1) (A) 3R (R) A T § AR (R), (A) FT TE == B
@)Wﬁwﬁﬁ%WMWﬁwWwﬁ%
3) (A)@%,I@WI(R)TI{FH%I

(4) * (A)TTAd § AfFT (R) T 2

31. & THAereh, & Tefoll o STER W 79 TRl 1 Jodishd i o foTu el 7 o, = uran ff T
FHIR 7 39 99 % SR Tafwcar s 76 faan a1 33 999 & SUR W qdaeTs 3 39 FHARI hl
Tt fafsada gfic @ fre!, ‘orda sEigwa’ o ‘wad’ % w9 § fFa1 98 Qe
%illl.

(1)~ &R Ffe ) fergfew

(3) oTAfus JoalgRe &t ygfa &1 (4) AR=E 99E @

oaass [T 1
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32.

33.

34.

35.

Which of the following parts of the basal ganglia constitute the striatum ?

(a) Amygdala

(b) Caudate

(c) Putamen

(d) Globus Pallidus

Codes :

1) @and() () @and©  (3) Gand© @4 () and'd)
4

Among the laws of perceptual grouping, the law of simplicity is a tende}\cy to:

[

(1) perceive simple patterns in terms of complex shapes

(2)  perceive complex patterns in terms of simpler shapes ¢
(3)  perceive simpler shapes only { ; |
(4) perceive complex shapes only il \

” A
Y. |
What is the role of positive and negative reme’forcement ?}

(1) To increase the likelihood that responses preci ?ég both will be repeated.

(2) To decrease the likelihood that responses pr

ing negative reinforcement will be
repeated. f

J
F
Fd
-

(3) To increase the likelihood that fesponses preced'hg only positive reinforcement will be
repeated. ¢

(4) To ensure that there arekn?négative consequences following the behaviour.

Match List-I with List-II and select the correct answer by choosing from the codes given
below : -

-

List-I \ ( List-1I
(a) Sensory memory (i) Information that passes through a gate and
‘4 transferred to short term memory
_(b) Attention | (i) Information subjected to deep processing
(c)  Short term memory (iii) Temporary storage of sensory information
(d) Elaborative rehearsal (iv) Brief storage of information

Codes :
@ () ) (@

@ 6 @) ) ()
@ V) O (v G
@ @ @ 0 G
@) (v @) 6@
o-oass [N AN 20

www.examrace.com



32.

33.

34.

35.

e finfeen @1 frafafaa sE-w1 9 wew %1 fmin w2

(a) STTETEN

(b) HIe

() TeIm

d) e Sfaed

%< : ! '
(1) (a) &R (b) 2) (@) 3R (o) (3) (b) ¥R (o) 4) () IR (d),

FeqeTTeh TS % P ¥ S 1 fan Fretfetad gt $ - J

(1) Sfed TRfdal & 9 # X UM 61 Teaafienio

(2) WA ARiaAl o €9 H Sl A H1 FA&TRL0

(3) had HIA SATHIAA h TeA&fThLoT |
(4) HIA Sfed TRl T TA&T R I,.rf‘(

-

HHRIHE TR THRHE AT hi FI H{ﬁﬁm%?ﬁ%? ‘

1) 38 G9EA § gfg we o S a6t qeledt erfwand B |

2) 39 99l | wH @ R TR, RREIGE aﬁﬁﬁ%wﬁﬁﬁﬁl

3) wqwﬁq@mﬁﬁﬁafmmﬁwwm@m
4) %gﬁﬁaﬁmﬁwﬁwﬁéwqﬁmﬂﬁml

(
(
(
(

Wlaﬁigﬁnﬁgﬁﬁﬂaﬁmaﬁ?ﬁ%ﬁ@?@ﬁ@vﬁwaﬂwaﬂm
-1 { ( HEi-11
(a) Hasl wfd| () Fo fRE R | e Sl § AR STeushiiae Sid o
‘" afafdd et &

4 (i)  FEAT H TR THEE BT ©
thafw%ﬁ! (iii) oIS G HT TR HUSRO
d) foeRomTHs g (iv) = 1 GiaE YUeRy

FRE : |

@@ (b) /() (d)

g @ @) () (@)

(i) (@) (v) (i)

( ) (iV) (i) (ii)

I\IHHH 2
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36.

37.

38.

While forming a concept one chooses to take one hypothesis and selects many of its features
to quickly form the concept at once :

(1) Successive scanning (2) Conservative focusing

(3) Focus gambling (4) Simultaneous scanning

Ty

Which among the following are the final outcome of curiosity ?

(a) Drives to explore { i
(b) Increases arousal f

() Gains information and resources g o

(d) Reduction in tension Y ‘; , (

Codes : '// '

(1) (b) and (c) (2) (b), (c) and (d Cf and (4) (a), (b) and (c)

r
J

F
Fd

-

Read the statement and choose the correct answer out of given options :

“If one hand is placed in a cor_lté‘heﬁof hot water and other in cold water. Then both hands
are placed in a container of lukewarm water.” Most people experience :

(1) The hand initially placed in hot water feels the lukewarm water as cool whereas hand
initially placedsin cold water feels it as hot.

i
(2) The hand initially placed in hot water feels the lukewarm water as hot whereas hand
initially placed in cold water feels it as cold.

(3) Both the Hands will have feeling of equal hotness but more than temperature of lukewarm

water &
(4) Both the haﬁds will have feeling of equal coldness lower than temperature of lukewarm
water.

\
An accused is harassed and tortured until he confesses to the crime is an example of :

39.
(1)  Negative reinforcement (2) Punishment
(3) Primary reinforcement (4) Secondary reinforcement
s [ [|[TTHIINANI 2
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36.

37.

38.

39.

Teh STIHRON Sl T&d THF TR0 1 ISl 9 T34 & forw ek =afaa fondt &1 afkemea T iR gg
agd 9t faranetl w1 =9 FRA1 e

(1) STThHF HHAT (2) HEfad HarRL

(3)  FTshIel W Hehfsd (4) WHEEAR HHESATE

frfafed ¥ § M-8 g % sifaw afom €2

(a) STV HT G

(b) e aEH

(c) Yo TR FHIEE T HIAT / ' ks
(d) W& H wH V| B |
FE : /

& :

frfafad e &l qquaﬁiﬁqmﬁ;%ﬁﬁﬁWW{WWW:

X
Haif R E1er T A Al S B 8T S & $fR g8 w1 S W Al S H v 9 Y | 56 9
ST 1 AT U STt S B S 17 STRIeRTST R bl 39 YRR Hedgd e ¢
(1) & H 7o gt F2E T e il TR T ST A A e gE | S I 7 1@ T e 6
RERIEREs R (
(2) U&H TH G H T TR R A I TH T H B Selh Y& H 3¢ U § T T 31 h
Ig 31 HeHY B |

! 3 ﬁaﬁﬁ‘ﬁmﬁwﬁmww@ﬁwwwﬁ|

(4) A el T @ TER F G TR U S G eifers e weE )
' |
gt St a1 3o R ST et R ST 0 W SR Tt T e e ¥ 2

(1)~ FRRcHS e (2) TS

(3) WUfHE e (4) IO gAEEA

oaass [T 2
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40. Which of the following are not Mnemonic devices ?
(a) Categorical clustering
(b) Pegword system
(c) Consolidation
(d) Rehearsal
Codes :
1) @and(®) () Gand©@  (G) @and(© (@) (0 anll ()
L
41. Read each of the following two statements - Assertion (A) and Reasdn (R) and irldicate
your answer using the codes given below :

Assertion (A) : Advertising and media campaigns are based“frequently on the availability

heuristic. { :
Reason (R) : Consumers recall instances o}being satisfied and Iiexpec’c this outcome to
recur. .
i i
Codes : / - /
| |
(1) Both (A) and (R) are true and (R) is the corredt explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the cor»g:t explanation of (A).
(3)  (A) is true, but (R) is false. " { et
(4) (A) is false, but (R) is true. h .
o f
. <
Vi
42. Match List-I with List-II and select the correct answer by choosing from the codes given
below :
List-1 " List-1I
i
(Measures) { (Body part)
(@) EMG (i) Sweat glands
(b) EEG @ (i) Iris
/() GSR U (iii) Muscles
(d) Pupilometr (iv) Cortical neurons

@ () [(© (d
@ O @) ) (W)
@ L) @) 6
(@) @) @) O )
) Gv) G @ @)

oauss [ HNNTEI 2
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40. freAfafEa # 9 w9 Wi gew fafr & €2

(a) aTRIUMCHE o5
(b) TTEE YoTEd
(c) WHHA
(d) g™
< : ! :
O @B @ GO O @FEO @ QA
41. To=fafEa S wedl - sfieweT (A) iR ek (R)ﬁmﬁ?ﬁ%mwﬁ%wméaﬁ
SR T :
AR (A) :  Toumma iR Hifew sifvam = e wlgmlolehl " aﬂﬂTﬁ‘d ok
e (R) : SERICS I Mgwléﬁgwdlaﬂwaﬂﬁ%\aﬁﬁqﬁﬂméﬁwaﬁaﬁ
3T T ¢ | A |
E X / i
1) (A) 3R (R) I T2 ¥ 3R (R), (A) FT @ W@*ﬁ' /
(2) (A) 3R (R) S WL €, T (R), (A)ﬁaéwwé%l
@) @ A R Ty T
4) (A) T 3, W(R)Hﬁ%{ f -
42. WI@WII%W%@WWH%W&F@H@W@HM@WHWW
T
TEt-1 l{ -1
(wm) | ' (o)
(a) Fwasi () o Tt
~(b) IS | (i) MR
{ o wmmem f (i) Ara-afemt
(d) gaehfufaes (iv) Ik TAfHRhIT
E3E .|
L @ () (9 (d)
MY, @ @ () @)
(2) o (i) (i) (Qv) (D)
(3) (iii) (iV) (i) (ii)
(4)
|M||\|H|\III||H|\|H\||||\|\|H|\ 2
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43.

44.

45.

paus ||

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Value of h? (heritability) derived for a particular population is not the correct
estimation for other populations.

Reason (R) : Different populations have similar genotypes but they experience different
environment.

Codes : f

(1) Both (A) and (R) are true and (R) is the correct explanation of (A). { ’

(2) Both (A) and (R) are true, but (R) is not the correct explanation ofI(A). [

(3) (A) is true, but (R) is false. - 4

(4) (A) is false, but (R) is true. i { i (

s’

What is the correct sequence an auditory stimulus takes to reach the primary auditory
¥

cortex ? f

1)  Cochlear nuclei - Superior olive - Inferior COHi) Jus - Medial geniculate nucleus

(
(2)  Cochlear nuclei - Inferior Collicglus - Superior o}iv'é * Medial geniculate nucleus
!

—~

L]

)
)
3) Superior olive - Cochlear nQCl_eﬁ - Inferior colliculus - Medial geniculate nucleus
) Medial geniculate nucl_(ilisi- Inferior colliculus - Superior olive - Cochlear nucleus

(4

Read each of the followinig two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : ' Non-equivalent control groups are often encountered in quasi-experimental
research.
-~ 1
Reason (R) : Euasi—experimental designs are highly useful in policy and program
valuation research.

Codes :

(1)'. Both (A) alnd (R) are true and (R) is the correct explanation of (A).

(2)\ 4 Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) - (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

I 2
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43. Trefafaa & wmerl - afume (A) @R e (R) #1 aigy i = fag 7u 2 1 swim s g
39T ST SN,

afrme (A): el fomiw wwfie & forq S1fyygmm h2 (STafemeRt) 1AM o= wwfedl & foae w&

T TR ¢ |
e (R): frer-fie Tmfie & gum ey g § wg 3 s gafeRor &1 sq9a %% ¥ |
%< : '
(1) (A) 3R (R) S & € &R (R), (A) 1 T& = i

2)  (A) 3R (R) I T €, WG (R), (A) FT TEl A= T 7
(3) (A)WE &, wfw (R) Tord 2| >l
) (A) T ¥, &fA (R) TR il v, f
A\ 7
Illll' _I
44. T ST Sehe qoh TEEA % frq ST SEe B WEt A 2

4

I iz - GUIRAT AifeTe - 3THhIER Hlsqm SIEEISCARIEGEL

AR =JFHTG - Eﬂlﬂﬁﬂ?ﬁﬁw gﬁﬁm%ﬂﬁa ﬂ%‘éﬁ[@ﬁw?{ﬁﬂw

Ui sfifas - srafar -ﬂﬂﬂ& SR Shifdgad - Afead SHgae s

m%ﬁwwﬁimﬁmﬁﬁw e sife - FEfrR e

(1
2
3

)
)
)
4)

45. Trefafed & s - WW(A)W@(R)@W@T%@W@WWW@@
IR AT

ATIRIT (A)': 4 7RI STgHeM | 9 Tqed-Fa=or Tl 1 Su g €1
/ @& (R): ﬁfw‘TWﬁ'ﬁF Tfiyeney, ifq R FRiwT Yol TTHUM | HI%T ITAFT B4 € |
He
1) (A)aﬁt(Rjaﬂ‘fﬂé%aﬁT(R),(A)ﬁﬂﬁw%l
). (A) 3R (R) SH & €, g (R), (A) I &I =ame & g1
(3) > (A) T& §, Afer (R) TTera B
(4) (A) Terd &, iR (R) WE €
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46.

47.

Instruction for Q.Nos. 46 to 50 :
Read the following paragraph and answer the five questions which follow.

Paragraph : A psychometrician wanted to develop a new test of Abstract Thinking. He
prepared eighty items, presumably assessing abstract thinking. Each item had five alternative
answers, one of them being correct. The psychometrician carried out item analysis by using
item-remainder correlations. Item analysis retained sixty items. To examihe internal
consistency among the items, inter-item correlations were inspected. Then the sﬁiit—half
reliability coefficient, Kuder - Richardson reliability coefficient, andfCronbach’s falpha
coefficient were obtained for the sixty item test. The analysis yielded the Cronbach’s alpha
coefficient of 0.90. Since the test was fairly long and the alpha coefficient was also quite
high, an attempt was made to develop two short versions of equallength by randomly dividing
the test items. The 60 item version was, then, correlated with the alre&dy established abstract
reasoning test, using N=500. The correlation ]ag’zween the new and an established test was
0.24, significant at .01 level. J

In the above context, which one of the following corr'glation'éhould be computed to obtain
item-remainder correlations ? 4

< f
(1)  Point biserial correlatiory { < (2) Phi-coefficient

(3) Rank difference correlation (4) Tetrachoric correlation

i,

-

|

Which one of tge following statement would be true in the above context ?

" (1) Kuder - Rii’\‘ardson reliability coefficient would also be .90, but the split-half reliability

coefficient may differ from .90.

(2) _ Split-half reliability coefficient would also be .90, but the Kuder - Richardson reliability
coefficient jmay differ from .90.

(3)% Both Kuder - Richardson reliability coefficient and split-half reliability coefficient would
be .90.

(4) The correlation between odd and even parts of the test would be .90.

oauss [ HNNTEI 2
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9T WE&AT 46 € 50 % T 31797 ¢

frefafaa 7= % 93T 3k ST 14 13T 7T 9i< g9 & 3 I :

AT : T FAIHIIR ST FaI= o1 T T&T0] foshfa &1 =meal § | 98 §9ad: ST fadd &1
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\ N
47. 37 oo Hfgfafed # & & o1 wyq |& 2m?
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)
t
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)
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48.

49.

50.

To obtain inter-item correlations, which one of the following correlation coefficient should
be used in the above analysis ?

(1) Biserial correlation (2) Point biserial correlation

(3)  Phi-coefficient (4) Rank difference correlation

What is the expected Cronbach alpha for the short versions, referred to in the Wfagraph ?
(1) 0.45 (2) 0.67 (3) 0.82 (4) 40.90 .(’ )
[ F

Which one of the following conclusion can be drawn from the data pr-ovided above ?
= F

The new Abstract Thinking Test has : "

[

s N ;
(1) Satisfactory convergent validity (2) Zqﬁéfactor.y divergent validity

(3) Satisfactory concurrent validity (4) Unsatisfactory concurrent validity
! |
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Space For Rough Work
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